UNIT – 4

National Income: - Concept, Measurement (methods) and determinants.

Planning: -Planning Mechanism, Features of India’s five years plan.

National Income:  National Income is a measure of the total output of commodities and services during a given period.

Concepts:

· The Government of India formed National Income committee in 1949 under chairmanship of P.C. Mahalanobis.

· While publishing their first report NIC delegated the task of National Income Estimation to the central Statistical Organization (CSO) in 1949. 

· Since then CSO proposed plans and given periodic report till present tenth five years Plan (2002-2007)

· CSO published National accounts statistics (NAS) in 2002. Which remain as a landmark for planning history of India.

· NAS classified Indian economy under certain sector to assess and access the data and analyze them for national interest. 

Determinants:

1. Primary

· Agriculture, Forestry, Fishing, Mining 

2. Secondary

· Manufacturing (registered and Unregistered), Construction, Electrification, Gas and Water supply.

3. Transport, communication and trade

· Railways, Storage, Hotel, Restaurant 

4. Finance and Real Estate

· Banking, Insurance, Ownership, dwelling and Business related real estate

5. Community and personal services

· Public administration and defense

6. Foreign Sector

· Import, export, FOREX

Measurement Methodology:

· Output approach (Primary sector)

· Production approach (Secondary sector)

· Expenditure and turnover (For all services)

· Compensation (For all efforts, products, idea or services)

Sources of data:

1. Crop estimation survey (State Government regulated)

2. Indian live stock census

3. Forest in India publication from union ministry

4. Rural survey of industries (Government Recognized)

5. National Sample survey (Un- Recognized)

N.B

· As the survey’s and methods depends upon the Analyst thus it is affected with bias concept or opinion error.

· In practicality illegal income and regional differences in income and expenses are not considered.

Measuring national income

To measure how much output, spending and income has been generated we use national income accounts. These accounts measure the:
1. Total value of the output of goods and services produced in the UK 
2. Total amount of expenditure taking place in the economy
3. Total amount of income generated through production of goods and services
National Income is a term used to measure the monetary value of the flow of output of goods and services produced within the economy over a period of time. Measuring the level and rate of growth of national income (Y) is important to economists when they are considering:
The rate of economic growth and where the economy is in the business cycle
Changes to overall living standards of the population
Looking at the distribution of national income (i.e. measuring income and wealth inequalities)
Gross Domestic Product (GDP)
GDP measures the value of output produced within the domestic boundaries of the UK. It includes the output of the many foreign owned firms that are located in the UK following the high levels of foreign direct investment in the UK economy in the 1980s and 1990s. Read this article on 100 years of UK GDP
There are three ways of calculating GDP - all of which should sum to the same amount since by identity:
National Output = National Expenditure (Aggregate Demand) = National Income
Under the new definitions introduced in 1998, GDP is now known as Gross Valued Added.
i) The Expenditure Method (Aggregate Demand)
This is the sum of the final expenditure on UK produced goods and services measured at current market prices. The full equation for GDP using this approach is
GDP = C + I + G + (X-M)
C: Household spending (consumption)
I: Capital Investment spending
G: General Government spending 
X: Exports of Goods and Services
M: Imports of Goods and Services
ii) The Income Method (Sum of Factor Incomes)
Here GDP is the sum of the final incomes earned through the production of goods and services. 
Main Factor Incomes 
Income from employment and self-employment
Added to Profits of companies 
Added to Rent income 
= Gross Domestic product (by factor income)
Only factor incomes generated through the production of output are included in the calculation of GDP by the income approach. Therefore, we exclude from the accounts the following items:
Transfer payments (e.g. the state pension, income support and the Jobseekers' Allowance)
Private Transfers of money from one individual to another
Income that is not registered with the Inland Revenue (note here the effects of the Black or shadow economy where goods and services are exchanged but the value of these transactions is hidden from the authorities and therefore does not show up in the official statistics!)
iii) The Output Method
This measures the value of output produced by each of the productive sectors in the economy using the concept of value added. Value added is the increase in the value of a product at each successive stage of the production process. We use this approach to avoid the problems of double-counting the value of intermediate inputs. The main sectors of the economy are the service industries, manufacturing and construction, and extractive industries such as mining, oil together with agriculture
The Difference between GDP and GNP
Gross National Product (GNP) measures the final value of output or expenditure by UK owned factors of production whether they are located in the UK or overseas. GDP is only concerned with incomes generated within the geographical boundaries of the country. So output produced by Nissan in the UK counts towards our GDP but some of the profits made by Nissan here are sent back to Japan - adding to their GNP.
GNP = GDP + Net property income from abroad (NPIA)
NPIA is the net balance of interest, profits and dividends (IPD) coming into the UK from UK assets owned overseas matched against the flow of profits and other income from foreign owned assets located within the UK. 
In recent years following the abolition of exchange controls in 1979 there has been an increasing flow of direct investment into and out of the UK. Many foreign firms have set up production plants in the UK whilst UK firms have expanded their operations overseas and become multinational (or trans-national) organisations.

Determinants of National Income

Y = C + I + G + X - M

C -- PCE -- Personal Consumption Expenditures 

· Durable Goods 

· Nondurable Goods 

· Services 

I -- Gross private domestic investment 

· Fixed  Investment 

· Business Investment 

· Residential Construction 

· Change in Business Inventories 

X-M  -- Net Export

Note that C, I, and G include expenditures on intermediate imported goods -- hence overstate the portion of national resources used for those purposes in any period 

· Exports 

· Imports 

G -- Government Consumption Expenditures and Gross Investment  -- what is actually produced for the government; excludes transfer payments 

· Federal 

· State and Local 

PLANS:

Indian Economy is based on the concept of planning. This is carried through her five-year plans, developed, executed and monitored by the Planning Commission. With the Prime Minister as the ex-officio Chairman, the commission has a nominated Deputy Chairman, who has rank of a Cabinet Minister. Mr. Montek Singh Ahluwalia is presently the Deputy Chairman of the Commission. The Tenth Plan is currently underway.

First plan (1951—1956)
Prime Minister Jawaharlal Nehru presented the first five-year plan to Parliament on December 8, 1952. Its total budget of 206.8 billion rupees ($23.6 billion in 1950 dollars exchange rate) was divided between seven areas: Agriculture and Community Development (17.4%), Irrigation and Power (27.2%), Transport and Communications (24%), Industry (8.4%), Social Services (16.64%), Rehabilitation, (4.1%) and Miscellaneous (2.5%). During First Five-Year Plan net domestic product went up by 15%. The monsoons cooperated, and harvests were good during the plan period, boosting exchange reserves and per capita income, which went up by 8%. Lower increase of per capita income as compared to national income was due to the rapid increase in population.

Many irrigation projects were started during this five year plan. Bhakra-Nangal, Hirakuda, Mettur dam in south India are few examples. The world health organization and Indian government together addressed the health needs of the children and reduced infant mortality in a big way. This was one of the reason for the very rapid increase in the population during this time.

At the end of the plan (1956) 5 IITs were started as major technical institutions. University Grant commission was formed to take care of higher education needs from the funding point of view.

Contracts were signed to start 5 steel plants. However these plants did not come in to existance until the middle of the next five year plan.

Second plan (1956-1961)
The second five-year plan focussed on industry, especially heavy industry. Domestic production of industrial products was encouraged, particularly in the development of the public sector.

The dams that were started in the first five year plan were finished in this plan and irrigation canals started feeding hundreds of thousands of hectacres of newly irrigated land. Hydroleectric power projects were started in the second five year plan. Notable one beeing Mahatma Gandhi Hydro Electric project at Sharavati, Koyna Dam project in Present day maharastra and then Bombay state.

Five steel mills at Bhilai, Durgapur, Jamashetpur were started also. Coal production was increased. More railway lines were added in the north east.

Atomic Energy Commision was formed in 1957 with Homi J Bhabha as the head of the AEC. Nehru took Nuclear power development under his own wings, and supported Bhabha. Tata Institute of Fundametal Research was started during this plan period as the seed research institute. In 1957 a talent search and scholarship program was started to get the brightest young minds to start career in the nuclear field.

War with china was a rude awakening about the lack of defence readiness. Peace loving Nehru was dealt a blow by Mao Tse Tung, and his Hindi Cheeni Bhabhai slogan was found to be hallow.

Mansoon was not so great during these years and population exlpossion continued unabated.

Pakistan and U.S.A. were allies under CEATO agreement. U.S. administration was looking at India as semi communistic socialistic country. Non allignment movement of which India was the founding member was seen by the western powers with suspecion.

All in all these years were not very productive years for the Indian economy.

Third plan (1961-1966)
The planned stress was on agriculture, but due to the Sino-Indian War of 1962 instead of agriculture the focus shifted towards defence and development. China war exposed the weakness of the economy.

In 1965-66, the Green Revolution was started for the advancement of Indian agriculture. The wars lead to the rise in price in India. Therefore the priority shifted to price stabilization.

Pakistan President Ayub Khan got too arrogant with his alliance with U.S. and wanted to test his military hardware "Superiority" by starting war with India in 1965. War actually took place accross international border between Pakistan and India in the Punjab state, not in Jammu and Kashmir where the disputed area . Indian Army destroyed 450 of Pakistani 800 tanks in one week. Horrified at the stunning defeat that his army received at the hands of Indian Tank commanders, Ayub rushed to U.N. to beg for cease fire. Lal Bhahadur Shastry was prime Minister of India. Lal Bahadur and Ayub Khan met at Tashkent for peace treaty. Lal Bahadur Shastry died a day after signing the cease fire agreement in Tashkent. The cause of his death is still not known.

India continued on with Dam building. Hundred of small and large dams were built during this five year plan. Many cement plants and fertilizer plants were also built. Punjab started producing abundance of wheat.

Many primary schools were started in the rural areas. In an effort to bring the democracy to the grss roots, Punchayat elections were started. The nation was reformulated under linguistic states in the first five year plan only. Now these states were given more and more development responsibilites.

State electricity Boards were formed. State secondary education Boards came into existance. States were made responsible for college level and high school level education. State Road transportation carporations were formed and local road building became state responsibility.

Fourth plan (1969-1974)
During the early period of the plan, several droughts affected the economy. Indian Currency was devalued due to rising inflation. Then an annual plan was introduced to resolve immediate problems, but still unemployement and poverty were major problems so this remained the focus of the plan. Another problem rose in 1973 in form of the hike in fuel prices but the focus remained unchanged.

Mrs. India Gandhi was the Prime Minister of India. World situation was not very peaceful during this time with Vietnam War underway in south east asia. She tried to control the capital market by nationalsing 6 of the Indias major Banks. The situation in East Pakistan ( Now Bangladesh) was getting very grave. Durging 1971 more than 10 million Bangladeshis poured in to India as refugees running away from the murderous West Pakistani Army. General Yahya Khan who was the military dictator of Pakistan then unleashed a rain of terror in East Pakistan with his 93,000 army.

So this refugee crisis highjacked the India's fourth five year plan. India had to send 300,000 troops surroudning East Pakistan and in 15 days liberated and the New nation of Bangladesh was Born in Dec of 1971. All 93,000 troops of Pakistan surrundered to India army, which were later released to west Pakistan after the Simla agreement of 1972.

Funds earmarked for the industrial development had to be used for the war effort. So even tho India exloded a "peaceful" atomic weapon underground in 1974 as a reply to President Nixon's crude gun boat diplomacy of bringing U.S. 7th fleet in to Bay of Bengal as a threat to Indian army operation in Bangladesh.

Fifth plan (1974-1979)
Stress on employement poverty removal and justice. Self reliance with respect to agricultural production and defence. During the 4th and 5th plan, stress was on ratuinal minimum ; but it was realized that still poverty plagued the nation. In 1978 the newly elected Morarji Desai government rejected the plan.

Sixth plan (1978-1983)
Called the Janata Government Sixth Five Year Plan. The new government rejected the Nehruvian Model of economy and stressed on village and cottage industries, natural mobilization of resources, so increase in employment.

When Rajiv Gandhi was elected as the prime minister, the young prime minister wanted India to make rapid industrial development. He wanted Information Technology to be used for the benefits of the masses of India. However computer phobia was so prevalwent in the labor leaders of communist party that he had to thread very slowly in to this avenue.

Some concessions were given to the industries to experiment with computerisation, and was hooked on computers ever since.

The Idea of National Highway system was introduced first time and many roads were widened to accomodate 2 busses able to pass easily !!.

The idea of Tourism and India as a tourist destination started taking shape. After devaluation of the ruppes it was very cheap for foregners to travel to India and enjoy the luxury at a very low cost.

The planners, the beaurocrats realized that just public funds alone will not be able to achieve the required rate of growth. So they had to think of bringing private sector in to the planning.

Family planning also had to be looked at seriously. The growth of population had to be curbed. China was achieving spectacular results with its forced sterilization method. But using force to enforce family planning in India won't work. However control of birth rate was made a priority. Educated people adopted to family planning readily. It was the rural population that still continued to have high birth rate.

Control on food prices was eliminated and ration shops were closed. This increased the food prices rapidly, putting pressure on the family budget. Cost of living was going up faster than the increase in productivity during this plan period.

Seventh plan (1980-1985)
The comeback of Indian National Congress Party into power. The stress was on improving productivity level of industries by upgradation of technology.

Period between 1989-91
The time period of 1989-91 was a time of political instability for the nation hence no five year plan was implemented. Between 1990 and 1992, there were only Annual Plans

Eighth plan (1992-1997)
Modernisation of industries, gradual opening of economy because of huge deficit and foreign debt.

Ninth plan (1997-2002)
1997-2002 The target rate of growth during the plan was proposed to be 7%. India was able to achieve it because sound base for rapid growth had already been laid in the country.

Tenth plan (2002-2007)
The main obejectives of tenth five year plan are -

· Reduction of poverty ratio by 5 percentage points by 2007; 

· Providing gainful and high-quality employment at least to the addition to the labour force over the Tenth Plan period; 

· All children in school by 2003; all children to complete 5 years of schooling by 2007; 

· Reduction in gender gaps in literacy and wage rates by at least 50 per cent by 2007; 

· Reduction in the decadal rate of population growth between 2001 and 2011 to 16.2 per cent; 

· Increase in Literacy Rates to 75 per cent within the Tenth Plan period (2002-3 to 2006-7); 

· Reduction of Infant mortality rate (IMR) to 45 per 1000 live births by 2007 and to 28 by 2012; 

· Reduction of Maternal Mortality Ratio (MMR) to 2 per 1000 live births by 2007 and to 1 by 2012; 

· Increase in forest and tree cover to 25 per cent by 2007 and 33 per cent by 2012; 

· All villages to have sustained access to potable drinking water within the Plan period; 

· Cleaning of all major polluted rivers by 2007 and other notified stretches by 2012. 

END

